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5, If you are paid a salery of §.01 on the firgt day of April and $.02 on the second day,
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Geometric Meodeling Applications

Day 5

Warm-up:

1. In ageometric sequence, the first term is -2 and the common ratio is 3. Find the sum of the first 10
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2. Find the sum of the geometric series: 9+3+1 —5...’— i n :Q
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Modeling Examples

N d
L. A culture of bacteria is growing at a rate of 8% per day. If there are 150 bacteria inthemrtial
population, approximately how many bacteria, To the nearest bacteria, will there be in 7 weeks?

n-)
= ].08 O = A C 49
o = 150 Ouq = /50(1.08)
N = '75(7:%&“'&0
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£. Devin began running a month ago fo get back inshape. The first day he ran .5 miles. Each day after
that, he ran 10% more than the previous day for a fofal of 30 days. Use the formula for the sum of a

- - ——_—.’-._— - -
finite geometric series to calculate the fofal distance Devin ran over the 30 days. Round to the nearest

thousandth of a mile. 3¢9
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3. Taylor earns $35,000 in her first year of teaching and earns 4% increase in each successive year.
Write a geometric series formula, S, for Taylor's fotal earnings over n years. Then find Taylor's fotal

earnings to the nearest dollar at the end of 10 years of teaching. n
q,= 35,000 @5 __3—5,000“‘1-07)
= l.o4 n ) —(.04

@S 35000 (1-1.04")
o |~/.0¢
= Q624

March 21, 2019



U11D5 GeometricModelingApps.notebook March 21, 2019

Mp™(1-
4. Monthly mortgage payments can be calculated according to the formula, A = % where M is
—P

the size of the mortgage, n is the number of compounds per year, 1 is the length of the mortgage, inyears,

p
I

and p= 1+ —} where r is the interest rate as a decimal. What would the monthly
n
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mortgage payments be on $175,000, 15 year mortgage with 6%.iqterest, compounded monthly, to the

nearest dollar. b an‘f" a Pa(jwl\f' 6 #/w.
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